—— A
N = 0] &F AF S & AN A
20228 = 20l A LBHSH HAEH =
SN ALY
HE: X L TANY
chelr ALY X2 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
PRSP P 42,659,595 40,936,787 1,722,808
= 3,806,101
g 20,362,250
& 18,491,244
FoEX Y AN 42,247,757 40,519,795 1,727,962
= 3,806,101
= 20,362,250
o 18,079,406
A8FH XS 189,246 864,385 AB75,139
ALEAM AT 162,746 864,385 A 701,639
201 et 159,326 487,775 AN 328,449
01 At 22l ] 159,326 178,500 N 19,174
OXYEXN=E2/AIS 24 47,000,000 47,000
OEANHERAES &9 60,000,000 60,000
OH&) =4l 29 39,950,000 39,950
OdtEZ2HAMAMRARSE 29 1,700,000 1,700
OXgtotER3 29 1,700,000 1,700
OXENLdxEdA]S 24 8,976,000 8,976
203 R F &l 3,420 3,610 A 190
03 AIZH =X 2= X H| 3,420 3,610 A 190
OAHEA SOIAIY HL2F=X 3,420,000 3,420
NEHL A S MG 26,500 0 26,500
201 et | 6,500 0 6,500
01 AP 2t 2] H| 6,500 0 6,500
OXEHEMdE S 25 29 4,000,000 4,000
OSAMNLSE BAZA XN E 89
2,500,000 2,500
401 Al HI L 204 HI 20,000 0 20,000
01 Al&H| 20,000 0 20,000
SHET I I 24 20,000,000 20,000
SAIHE 22| 7,853,250 13,271,425 N5,418,175
g 781,250
& 7,072,000
ISR 22 (Al2) 22,750 60,750 A 38,000
Fag 22,750
308 XHXIEHSOIA 22,750 60,750 A 38,000
g 22,750
01 AIXSHMEMNEX= 22,750 60,750 A 38,000
O MetTe 228X 22,750,000 22,750
Fag 22,750
MNeEre 2 2el () 1,250 1,250 0
Fag 1,250




2N

B SO U SANEY
SR TAAE 2el (cho &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
202 Od4dl 1,250 1,250 0
s 1,250
01 =S LHAYI 1,250 1,250 0
OMNgHE7 2elE8x 1,250,000 1,250
s 1,250
HE et FeIX& 486,000 2,490,000 A 2,004,000
ras 486,000
403 XXM S K201 A 486,000 2,490,000 A 2,004,000
s 486,000
01 XM A=2EE 486,000 2,490,000 A 2,004,000
OMgHst+4 =X 486,000, 000 486,000
s 486,000
1018 =) KL O KX 271,250 316,750 245,500
s 271,250
403 MHXI S S X201 & 271,250 316,750 A 45,500
s 271,250
01 AXSHMA2EER 271,250 316,750 245,500
OEJI0IZHBA XL Ol XX
271,250,000 271,250
s 271,250
SANHEANEAMY XA 6,672,000 10,402,675 A3,730,675
403 XIS E X201 H 6,672,000 10,402,675 A3,730,675
01 IXSHMA=2EE 6,672,000 10,402,675 23,730,675
OZAIHEAEASY K& 5,610,000, 000 5,610,000
OJzstd ZHMY(Z2SAA)
192,000,000 192,000
O=golddENHaa2 g2 XA
600,000, 000 600,000
OAUFMY T2 ME AG(ZUEA)
90,000, 000 90,000
OB#XE=Z FHIAIS(=RI&0) 90,000,000 90,000
OUMZEHASEMNFTRAZZ BEEHE X2 (=
IE0) 90,000, 000 90,000
LHEATZAIA ZATAIAHE 400,000 0 400,000
207 A RO H| 400,000 0 400,000
01 A E A 400,000 0 400,000
02040 LHEZAEAIH ZATAIHE(HE) =
E! 400,000, 000 400,000
ADIE #=C A 7S 5,943,760 1,710,000 4,233,760
= 3,375,000
= 2,568,760
A0LE B2 ek 1,500,000 0 1,500,000
= 1,500,000




PN HLF MY
HE: K U SANY
CHelr ADIE B=EAl 2E (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 1,500,000 0 1,500,000
= 1,500,000
01 HXHMA=LE X 1,500,000 0 1,500,000
OAQGLE B2 HE X AtY 1,500,000, 000 1,500,000
= 1,500,000
ADE &248 #EX 1,875,000 0 1,875,000
= 1,875,000
403 XSS A0l & 1,875,000 0 1,875,000
= 1,875,000
01 XM A=2EE 1,875,000 0 1,875,000
OANE &3 E E4AY 1,875,000, 000 1,875,000
= 1,875,000
ADE HES Al BHED| 1,710,000 1,710,000 0
403 A X EHS =0l A 1,710,000 1,710,000 0
01 X SHHX2E= 1,710,000 1,710,000 0
OALLE X =x& =4 960,000, 000 960,000
oalte 2¥ 24 450,000, 000 450,000
OALE nsetded o 300,000, 000 300,000
ADEEZA 2 SEEHE 29 558,760 0 558,760
201 Let24d] 107,660 0 107,660
02 =24l 107,660 0 107,660
OFd AGEEZA 29 SgdH 222l
107,660,000 107,660
207 A RO 52,000 0 52,000
02 & AR I 52,000 0 52,000
O=sd ANEEZA 29 Sgdd 222l
52,000,000 52,000
405 XtatHE SHI 399,100 0 399, 100
01 AL EFH S 399,100 0 399, 100
Osd AGEEZA 29 SgddH 222l
399, 100, 000 399,100
A AQEZAl 2HEZ NMHIA = 300,000 0 300,000
403 MtXISHHE X201 E 300,000 0 300,000
01 AXSHMA=2EE 300,000 0 300,000
OHEA AOLEAIE ASAY 300,000, 000 300,000
NEhg X 27,682,000 24,091,535 3,590,465
s 19,581,000
< 8,101,000
IR/ R= PN 19,581,000 17,320,000 2,261,000
s 19,581,000
403 A X EHS =0l A 19,581,000 17,320,000 2,261,000




AN AL4FH MY
o) o

HE: X L TANY
Ee XgEHe X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Fag 19,581,000
01 XIS A=Z2E X 19,581,000 17,320,000 2,261,000
OdEEXXF g XA 19,581,000,000 19,581,000
g 19,581,000
HEXED| A E XS (MEAIY) 7,800,000 6,523,535 1,276,465
403 XX SRS R 20| & 7,800,000 6,500,000 1,300,000
01 MXSHHXNE2E =X 7,800,000 6,500,000 1,300,000
OHE XY DJ|BIAIE K& 7,800,000,000 7,800,000
=2dA2 22 1,000 1,000 0
201 et 9| 1,000 1,000 0
02 E232%H| 1,000 1,000 0
O2&88g3 A3yl 1,000,000 1,000
WEEEAE 829 22X 300,000 0 300,000
308 XHXIEHSOlA 300,000 0 300,000
01 AIXSHMEMNEX= 300,000 0 300,000
OUWEERAE 29 EX 300,000,000 300,000
FEH0I2 20HPE F=HIY g 431,101 431,000 101
= 431,101
20329 F=HAYE S Y 431,101 431,000 101
= 431,101
403 XX SHHS K20 ™ 431,101 431,000 101
= 431,101
01 XIS A=Z2E X 431,101 431,000 101
O203Y F=HIYE S MEX& 431,101,000 431,101
= 431,101
A48nNsE IS 148,400 151,450 A 3,050
AHDE B0 X 148,400 151,450 ~3,050
201 et | 78,200 77,775 425
01 AP 2t 2] H| 78,200 77,775 425
OHd&EnE sotd 2 11 65,450,000 65,450
OHENEZO0F Q2SO 24 12,750,000 12,750
202 04 d| 7,650 7,650 0
01 2L I 7,650 7,650 0
OH&ENE 3d =X 7,650,000 7,650
203 ¥ R =&H]| 62,550 66,025 AN3,475
03 Al 2 =& 2 =X H| 62,550 66,025 N 3,475
OUEANTA 2® U NP2 425
17,100,000 17,100
OSOotAIY & SOC &5 A =& 34,200,000 34,200
OAHENE SOHAIY AIME=Z 11,250,000 11,250
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